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1140 FkJRHET 0 13
1150 F/RET—T B 0 150
1160 F/RET—T B 0 190
1170 ;5 7KHET 0 142
1180 BB&ALHET 0 209
1190 #&FAHT 0 161
1200 XFHEI—TH 0 115
1210 XFHEIZTH 0 143
1220 #rHET 0 127
1230 #EHET 0 134
1240 B EHT 0 134
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1250 fEEHET 0 147
1260 B @ 1 33
1270 EEHT 0 123
1280 FRAEHT 0 157
1290 $RHET 0 146
1300 & ZEHT 0 120
1310 RILGHT 0 61
9999 KM XET 2 7157
1510 AEHD_E BT 1 668
1520 HEHTHET 0 635
1530 HE#FTHT 0 320
1540 K{g3HT 0 497
9999 HEMIE X &t 1 2120
2010 Z EERHET 0 206
2020 %= EFaHET 0 260
2030 SE0HT 0 20
2040 :ET—TH 0 194
2050 MBET=TBHB 0 173
2060 ¥g f¥fT 0 39
2070 FxEBT—TH 0 232
2080 +RETZTH 0 176
2090 THIKHET 0 1544
2100 hiLHT 0 258
2110 KEMIETET—T B 0 233
2120 HEWIEET—TH 0 289
9999 ZERXET 0 3624
2510 ¥AZHET 0 2053
2520 Sk hEMT 0 1359
2530 =/MEHET 0 387
2540 FHi5HT 0 387
2550 ;HHET 0 217
2560 &= EHT 0 871
2570 K EHT 0 79
9999 MER X ET 0 5353
3010 X#FHT 0 931
3020 ;ELiTHT 0 918
3030 _EEFHT 0 747
3040 & _LET 0 128
3050 R AT 0 2275
3060 HESTHT 1 449
3070 HBREHT 0 434
3080 HHRHT 1 369
3090 H A EHT 0 400
3100 HHFHHET 0 469
3110 EHeALHT 0 388
9999 /\ FERX &t 2 7508
3510 £/F LHT 0 164
3520 2R HHT 0 319
3530 2R THT 0 931
3540 Z= B KHET 0 354
3550 AEFHT 1 759
3560 &= T ERAT 0 271
3570 & T AT 1 715
3580 F|LIFrHT 0 555
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3590 EHT 0 11
9999 S HKXEt 2 4079
4010 21| RET 0 299
4020 {E&HT 0 88
4030 5HT 0 221
4040 = HEAHT 0 194
4050 7K EHT 0 397
4060 E5Z4 HAT 0 343
4070 JtJRHET 0 167
4080 =;T;HAMT 0 209
4090 55 jERHT 0 323
4100 g FFOAT 0 139
4110 JtFFET 0 147
9999 &M XET 0 2527
4510 EREE—ZEHT 0 698
4520 EREE—ZEHT 0 161
4530 EREE =Z5HT 0 161
4540 EREEIUZEHET 0 110
4550 EREE R ZHT 0 114
4560 EREE/NEHET 0 69
4570 EREEHZHET 0 104
4580 EREE/\ZFHT 0 81
4590 EREE N ZEHT 0 102
4600 AR+ ZHT 0 105
4610 EREE+—ZHHT 0 117
4620 AR+ —FHET 0 191
9999 AREFERXET 0 2013
5010 BBF0 H EET 0 183
5020 RRF0BAELET 0 142
5030 RRF0[RI{—HT 0 177
9999 RRFIMXET 0 502
5510 b R HET 0 206
5520 = HhHET 0 573
5530 FA=HT 0 441
5540 wy ZERT 0 248
5550 EFEHT 0 69
9999 iR X &t 0 1537
6010 [E]ET/NER 0 87
6020 [EHET o 0 108
6030 [EET & JII 0 92
6040 Bz FFHT 1 195
6050 JI|EHATE 0 139
6060 JI|EHATF 0 117
9999 FEERXET 1 738
6510 HZEAFBHET 0 23
6520 H &= A KIEHET 0 177
6530 HZEAFTHET 0 117
6540 HZEAILUTHT 0 143
6550 B =AM 2 NET 0 7
6560 HZE AtEILHET 1 111
6570 H R AIEFHT 0 122
6580 HZAEHT 0 69
6590 HZEARKMET 0 33
6600 B Z A HHT 0 65



XKH24. 7 FREARBIREZD—IREIZKYNEANEZEDH-AO
[R3.3.31IREITEHET SR (KF) Al FE#AAD (B)

THRET(KF)a—F {TERET (K=F)4% 1000k AOF

6610 HEA L FGHT 0 46
6620 HZEAF T 0 33
6630 HZE AT FHET 0 76
6640 HE A EitslT 0 32
6650 B ZASHET 0 2
6660 HZ A RLHET 0 21
9999 HEAKKET 1 1141
7010 — &M O ET 0 149
7020 — R AHT 0 216
7030 — R FR#AHET 0 80
7040 — BT KEFHT 1 175
7050 — R 7 H I ET 0 99
9999 — R ET 1 719
8011 SRAETFGHERLY 0 49
8012 IR AHTFHERA 0 119
8013 Y AHTFEER (& 0 7
8021 R AHETZFEKLY 0 73
8022 IRAHETIEKA 0 3
8023 IR AHTIEKIL 0 4
8031 IRAHETH ALY 0 132
8032 IRAHTHAA 0 8
8033 IRAHTH AL 0 19
8041 R AETHELIFZL 0 51
8042 R AHETELIFA 0 26
8043 Iy AHTHLIF (X 0 13
8044 YR AHETHELIFIZ 0 23
8045 IR AHTHLIR (X 0 38
8050 IR AHT A 1 106
8060 IR AHTFT 0 104
8070 AHTER 0 80
8080 Ik AHT &k 0 42
8090 I AHTH;EE 0 36
8100 JRABIH/{% 0 10
8110 IRAHTJII 5= 0 27
8120 R ARHETERER 0 66
8130 JRAHTH L 0 69
8140 IRABTEFRKT 0 108
8150 IR AHTEFRK L 1 81
9999 IRARK X ET 2 1358
9010 F THTRKEH 0 559
9020 FTHTEER 0 397
9030 FTHTHEH 0 1251
9040 F THTHERRH 0 1289
9999 FT#XEt 0 3496
9110 SERT T H L 0 501
9120 $RATH L 0 217
9130 RETH B 0 148
9140 SFEET T4 1 396
9150 $RHT L§5 0 490
9160 SRHETER4T 0 702
9170 $ERTAH 0 876
9180 FRMETER 1 518
9190 #EHRTZ O 0 207
9200 $EHTEFIH 0 215
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9210 $RAT = H 0 365
9220 SEETHH 0 562
9230 $EHTE M 0 671
9240 $EHETIEE 0 263
9250 SEHETALFrith 0 544
9999 FEXET 2 6675
9310 E[FHET:AR 0 183
9320 E[ZHETAL 0 234
9330 RFZHET/INE 0 150
9340 R [ZHTRY 0 371
9999 H[G#HXET 0 938
9410 RETT & 0 357
9420 RHETHHE 0 216
9430 RETFER 0 139
9440 RETAEF 0 11
9450 RETHER 0 19
9460 RET{_HE 0 30
9470 RETER 0 7
9480 RHETHER 0 57
9999 RKXEt 0 836
99999 &t 15 58196



